3 FEHENERESR

39K AR
(BT 1, %)

X4y i 27 28 29 30 SR
B & # # 385 318 327 328 336
A AF MR Bk 230 191 182 198 204
osl WO 155 127 145 130 132

194 136 129 124 143
==

®owE R [100.0]  [100.0]  [100.0]  [100.0]  [100.0]

3 2 1 2 1

& 5 05 08 (1.6 [0.7]

136 94 78 87 88

7 g [70.1] [69.1] [60.5] [70.2] [61.5]

; 55 40 50 34 54

"o oH Y f98.4]  [29.4]  [38.8]  [27.4]  [37.8]

MER ST ®HY - - - - -

fIEE SR L 55 40 50 34 54

N — - - 1 —
B 2L [0.8]

R FE B M 191 182 198 204 193

BBA0K  AE TR Z R L TR

(HEAZ 1, %)

K4y F A2 3 4 5 6
B 8 163 147 100 117 97
4 470 418 375 399 362
ke # 34.7 35.2 26.7 29.3 26.8

— 124 —



(3394 >0%)

(BAL: A, %)

K4y i Fn2 3 4 5 6
B # # # 356 396 r367 r382 326
A AF MR Bk 193 249 r267 r265 r229
OB oM GE 163 147 100 117 97
107 r129 102 153 126
LA [1000]  [1000] [1000] [100.0]  [100.0]
. 1 1 2 0 2
L 0.9  [0.8]  [200  [00]  [16]
60 r75 65 119 81
il g [56.1] [58.1] [63.7] [77.8] [64.3]
. 45 53 35 34 40
"B »0 4211 (4111 [343]  [22.2]  [31.7]
MER ST HY - - - - -
MIER S 2L 45 53 35 34 40
; 1 - - - 3
B OB oeL [0.9] [2.4]
R FE B M 249 r267 r265 r229 200

FTAR  RBEHEDTHRAK

(HEAZ 1)

K4y F N2 3 4 5 6
EN 4 163 147 100 117 97
AN Y97 #) AT % 144 120 89 103 73
be S N - -3 17 18 11 10 22
x B # B - 5 - 4 -
57 {8 & kS F ¥ 2 4 - 2
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B4k RBEIFHDIRER
(AT 1)
FREIT | i g | e | W
s x| kg | moF | e | S e e
w 326 | 126 81 40 3| 200
KM B AT 4| 300|106 81 24 1 194
E AN B R 24 18 - 14 2 6
Z B H B - - - - - -
¥ A8 F s F % 2 2 - 2 - -
F43K  AREF TR H
(Bfhr: B)
X4y i 22 3 4 5 6
S 4267  rd320 597.3 697.5 701.6
NGB AT % 499.7  r521.7 671.5 764.5 821.0
B AN B 76.7 r76.6 167.2 105.0 73.4
Z B # B - 20.6 - 15.0
T LA F ] 187.0 43.8 - - 30.0
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4

a4k MM

(FEQL )

K4 i N2 3 4 5 6
@ 0 1,266 1,206 1,126 1,180 1,208
r(336) (330) (234) r(257) (204)
- . 248 238 219 237 211
WELCHT 560 (56) (83) (50) (59) (45)
R Y 5 AT &\ 320 274 272 267 254
B 4 5 8 o (116) (99) (83) (79) (62)
= e 298 279 207 219 245
B4 24 0 (163) (147) (100) (117) 97
g 400 415 428 457 498
T OO R (1 (1) (1) (2) 0)

) O ) RIS, HIEE - SR T
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